[image: image3.jpg]





RDMOTO CZECH REPUBLIC


6
info@rdmoto.cz



www.rdmoto.cz


H1
Honda CBF500 2004-
Left side fitting kit:                                          Right side fitting kit:
	ID.
	Description
	Cat.no.
	Qt

	1
	Steel box M10
	X1
	1

	2
	Steel nut M10
	X11
	1

	3
	Duralumin cylinder d=40mm
	4
	1


	ID.
	Description
	Cat.no.
	Qt

	1
	Steel box M10
	X1
	1

	2
	Steel nut M10
	X11
	1

	3
	Duralumin cylinder d=40mm
	4
	1

	
	Stainless steel bar 10(1,25)x445x30x30
	
	1


Installation:
1. Dismantle the long original bolt M10, as you can see on the picture.
2. Inser the stainless steel bar M10x450x1,25mm through the engine and frame.
3. Place duralumin cylinder (ID. 3) on this stainless steel bar both sides.
4. Insert steel box (ID. 1) into the protector and now place protectors on stainless steel bar too

5. Finally screw up all with nuts M12 (ID. 2)

Warning – we recommend to use safety glue on threads of all bolts (moderate strong – blue colour).
[image: image1.jpg]



[image: image2]
1

[image: image4.png]


